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Introduction

The Government response to the
Pensions White Paper consulta-
tion exercise announced that ...
the Government is considering in-
troducing a much simpler flat-rate
State Second Pension (S2P), to re-
place the current complex arrange-
ments...l This has been de-
scribed as a radical simplification
of the additional state pensionz,
which would result in ...in effect,
a single pension which fully recog-
nises their social contributions.

This Briefing Note describes the
Government’s proposed change,
and estimates what the impact
could be on pension incomes. It
shows that the proposed change
allows S2P to be presented in a
simpler way than today, that
any gains or losses are likely to
be marginal, but that there
would still be significant differ-
ences between BSP and S2P.

What is S2P?

State Second Pension (S2P, or
the additional state pension) is a
separate state pension paid in
addition to the Basic State Pen-
sion (BSP), with the amount re-
ceived by an individual depend-
ing on how much he or she
earned or had credited during
their working life.

There are two parts to S2P4. An
individual who earns between
the lower earnings limit (LEL,
currently £4,368 p.a.) and the
lower earnings threshold (LET,
currently £12,500 p.a.), or who
qualifies for a credit, currently

on earnings
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Chart 1: S2P accruals depend
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S2P accrued in 2006/7 for the cohort reaching State Pension
Age (SPA) in 2050, for different levels of earnings, expressed
in £ per week recerved at SPA, in 2005/6 earnings terms

Flat-rate part

Upper Upper
Earnings Earnings

Threshold Limit
(£28,800) (£33,540)

receives a flat-rate amount of
S2P. Individuals earning above
the LET receive more S2P,
through an additional earnings-
related part (Chart 1)5.

The amount of the ‘flat-rate’ part
of S2P can vary in two ways un-
der the current formula used to
calculate it:
The flat-rate amount differs
according to when an indi-
vidual reaches state pension
age (SPA). For a 51 year old
today (reaching SPA in 2020),
the flat-rate amount (payable
each week after reaching
SPA) is £1.42 (2005 earnings
terms). For a 42 year old to-
day (reaching SPA in 2030)
the flat-rate amount is £1.20.
The flat-rate amount is slowly
increasing. In 2002 the flat-
rate amount for someone
reaching SPA in 2030 was
£1.16 (2005 earnings terms).
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What changes are proposed?
The original White Paper pro-
posals for S2P would mean that
the earnings-related component
would become smaller over
time, and eventually disappear
by around 2030. Only the flat-
rate component of S2P would be
earned after this point.

Under the new proposals, the
earnings-related part of S2P will
still become flat-rate by 2030.
But from 2012 the value of the
flat-rate component would be
the same in every year— £1.40 a
years.

What are the advantages?

The technical change to the S2P
calculation will make it easier to
see how much pension is being
accumulated each year as the
amount is fixed, and allow S2P
to be presented as a weekly ‘top-
up’ to BSP. The Government are
interested in combining BSP and
S2P together in a single pension.
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Who gains and who loses?

As the underlying qualification
criteria for S2P are not changed
by the new proposals, there is
unlikely to be anyone who will
gain or lose a significant amount

from the proposed change.
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But the value of S2P earned in

any one year will be changed as
a result of the proposed reform.
The impact on S2P received by
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Chart 2: Older people could
lose from the simplification

and younger people could gain

Flat-rate S2P accrued by different cohorts of individuals, by
ear of accrual, expressed in £ per week received at State
ension Age (SPA), in 2005/6 earnings terms
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an individual will depend on his
or her age, and the years in
which they qualify for S2P.
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For example, people reaching | 1101

SPA in 2020 (aged 51 in 2006)
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als, receive a smaller flat-rate
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S2P payment for each year they from the changes to the BSP pro-
qualify after 2012 (Chart 2)". posed in the White Papers.

For people reaching SPA in 2030 Towards a single state pension?
(42 in 2006) the value of the flat- Although the proposed change
rate payment under the new will simplify S2P, there will still
proposals is higher than the cur- be some significant differences
rent system between 2012 and between S2P and BSP:

2019, but lower after 2020. S2P may not become flat-rate
for all individuals until 2030.
Some people may qualify for
BSP but not S2P, for example
the self-employed.

S2P will still be uprated in line
with prices when it is pay-
ment, while BSP is uprated in
line with earnings.

Some of S2P will be delivered
by private pensions, through
contracting-out.

As a result of these differences,
there will still be uncertainty as
However, any losses in any year to the amount of S2P that indi-
from this change to S2P would viduals will receive. Amounts of

be more than offset by gains S2P in payment to individuals
For more information on this topic, please contact
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For people reaching SPA in 2050
(24 in 2006), the new proposals -
would result in a higher flat-rate
until 2024, but then lower than
in the current system. For this
group, the overall impact is ex-
pected to be neutral if they have
qualified for 40 years. Individu-
als who have qualified for less
than 40 years may be better or
worse off, depending on which
years they qualified for S2P.

will still vary according to lifetime
characteristics, and by age. For
example, because S2P is uprated
by prices when it is payment, a
woman with exactly the same con-
tribution record as her younger
sister will receive less S2P each
year than her sister does.

Conclusion

This technical change to the way
that S2P is calculated will allow
for a simpler presentation of es-
sentially the same benefits. Any
gains or losses are likely to be
marginal. Although the proposal
appears to move closer to a single
state pension, many of the differ-
ences that currently exist between
BSP and S2P will remain.
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